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& = o= 2| o HHE QoM s & = IR HEUCZXEH s 2

= Al 47,284 45,767 1,517 | & A 47,284 45,767 1,517
Fal 2 = 0 0 0|Hl & X & A HI 6,100 6,100 0
2 ES a 6,100 6,100 0|8 A& At HI 0 0 0
Xt 2 = 0 0 0| & 2 4 i 0 0 0
o gz 0 0 0/21 =2 & 0 0 0
He3a338 0 0 0|0l g 2 0 0 0
o X = 3 = 39,667 38,150 1,517 | Oll Xl = 41,184 39,667 1,617
Ol e =] 0 0 B EEE = 0 0 0
o X = g 17 17 Ol 2348 0 0 0
JE = Y 1,500 1,500 0|21 & X = 0 0 0
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17,000& = 17
220 LAIEM 2= 1,500 ,500
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224-07 2= 1,500 ,500
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a
1,500,000& = 1,500
500 X3 6,100 , 100
520 Al - SHIBXZS 6,100 , 100
521 Al - SHIEXZS 6,100 , 100
521-01 Al - SHIEXZ2S 6,100 , 100
O AHIX M2AAIR &
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6,100,000& = 6,100
700 B LS LUHEAH 39,667 , 150
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O 0x=a s+ 39,667,000& = 39,667
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Al SO otA 6,100 6,100
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AEZFHEAMN L E2 AHH 29 6,100 6,100
201 Er2g| 500 500
01 At 22l 500 500 500
O SSAME ZAS ZH=Hl
10,0008 = 5001 B= = 500
= 500]
301 detE X = 5,600 5,600
12 JIEt2EA 2 5,600 5,600 5,600
O AHIAL AZSM ZAS &3l
50,0008 » 5% 16 = 4,000
(& 4,000]
O g5 £24t 2LIH &3l
50,0008 » 2% * 16 = 1,600
== 1,600]
JIEt 41,184 39,667
MWREs(EHozd) 41,184 39,667
BEIE(BE2AMERNEIZ) 41,184 39,667
SRS 41,184 39,667
602 Ol Xl= 41,184 39,667
01 LEHHIXIZ 41,184 41,184 39,667
O txlz2 41,184,000& = 41,184
Xl £ g A 47,284 45,767
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2015 MtHX 253,650 0 223,200 0 0 0 16,950 13,500
20169 = 8,211 0 6,100 0 0 0 529 1,582
20179 & 7,681 0 6,100 0 0 0 411 1,170
20188 &= 6,553 0 6,100 0 0 0 453 0
20198 & 6,574 0 6,100 0 0 0 474 0
2020¥@ &= 8,100 0 6,100 0 0 0 500 1,500
20219 = 7,617 0 6,100 0 0 0 17 1,500

Al 298,386 0 259,800 0 0 0 19,334 19,252




SIAAZ 20214
Ofl &b Xb== 0 =0l &

gHTE - RLTABNEDIS (ol @e)
Z s oM
a-ol-l
o= & HEXAS | SXAAM |ozegy | AU2H | 22 - _
H® - “ loexzs | @0®
Abei b ofH| | ¥ JI=FH | 2 2AE | 224

20154 DHX 221,131 221,131 0 0 0 0 0 32,519
20168 &= 6,087 6,087 0 0 0 0 0 2,124
20178 & 6,113 6,113 0 0 0 0 0 1,568
20184¢ &= 6,100 6,100 0 0 0 0 0 453
20199 & 6,100 6,100 0 0 0 0 0 474
20208 &= 5,571 5,571 0 0 0 0 0 2,529
202143 &= 6,100 6,100 0 0 0 0 0 1,517
Hl 257,202 257,202 0 0 0 0 0 41,184
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